Bellwork  Alg2B  Monday, June 11, 2018
1. The diameters of basketballs being produced are normally distributed with the following statistics:

X =9.55and o = 0.05.
a) What percent of the basketballs have a diameter less than 9.5 inches?

b) What percent of the basketballs have a diameter between 9.6 in and 9.7 in?
c) If you randomly take a basketball, what is the probability that the diameter is greater than 9.45 in?

d) What range of diameters contain 95% of the basketballs?

2. Find the Amplitude, equation of the midline, and period of the periodic function shown below.
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3. Find all solutions, 0° < x < 360°. Give EXACT answers if possible, otherwise round to the nearest

hundredth.
3Tan26x + 15Tan6x = 0

4. Find all solutions, 0 < x < 2z. Give EXACT answers if possible, otherwise round to the nearest

hundredth.
5Cos2x+3Cosx = 0

5. Find the COMPLETE solution to this equation. Give EXACT answers if possible, otherwise, round to
the nearest hundredth. Give answers in radians.
8Sin27x — 5Sin7x = 0

6. Find 5 x-intercepts and 5 VA for this function: Tan(6.5x)
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